FORMAL GROUP LAWS FOR MULTIPLE SINE FUNCTIONS AND APPLICATIONS

In memory of Professor Tsuneo Kanno

SHIN-YA KOYAMA AND NOBUSHIGE KUROKAWA

Abstract

We investigate addition relations for multiple sine functions from the view point of formal group laws. We find that the functions which appear in the coefficients are related to classical Eisenstein serires. As application we obtain a limit formula for automorphic forms.

1. Introduction

The addition theorem for the multiple sine function is a quite important problem. Indeed a suitable addition relation would imply the algebraicity of the division value of the multiple sine function, which would lead to Kronecker's Jugendtraum as studied by Shintani [S1] in 1977.

In this paper we investigate addition relations for multiple sine functions from the view point of formal group laws. The central problem is to determine characters of coefficients. We see that important functions are appearing in these coefficients and that they are intimately related to classical Eisenstein serires. Consequently we obtain some limit formulas for automorphic forms.

Let

$$S_r(x, (\omega_1, \dots, \omega_r)) = \prod_{\mathbf{n} \geq \mathbf{0}} (\mathbf{n} \cdot \boldsymbol{\omega} + x) \left(\prod_{\mathbf{m} \geq \mathbf{1}} (\mathbf{m} \cdot \boldsymbol{\omega} - x) \right)^{(-1)^{r-1}}$$
$$= \Gamma_r(x, \boldsymbol{\omega})^{-1} \Gamma_r(|\boldsymbol{\omega}| - x, \boldsymbol{\omega})^{(-1)^r}$$

be the multiple sine function, where

$$\Gamma_r(x, \boldsymbol{\omega}) = \exp\left(\frac{\partial}{\partial s}\zeta_r(s, x, \boldsymbol{\omega})\Big|_{s=0}\right)$$

²⁰¹⁰ Mathematics Subject Classification. 11M06.

Key words and phrases. Multiple sine function, Eisenstein series, modular function. Received April 10, 2012; revised July 18, 2012.

is the normalized multiple gamma function obtained from the multiple Hurwitz zeta function

$$\zeta_r(s, x, \omega) = \sum_{\mathbf{n} > \mathbf{0}} (\mathbf{n} \cdot \omega + x)^{-s}.$$

Here we use the notation $\boldsymbol{\omega} = (\omega_1, \dots, \omega_r)$ and $|\boldsymbol{\omega}| = \omega_1 + \dots + \omega_r$. It is obvious that $S_r(x, (\omega_1, \dots, \omega_r))$ is symmetric with respect to $\omega_1, \dots, \omega_r$. In what follows we denote $S_r(x) := S_r(x, (1, \dots, 1))$.

As was shown in our previous papers, the values of the multiple sine functions at rational points are important for the study of special values of the Riemann zeta and the Dirichlet *L*-functions. For example, we would obtain the transcendency of $\zeta(3)/\pi^2$, if we prove the rationality of their division values. Thus the addition formula is crucial.

We put the addition formula for $S_r(x, \omega)$ as

$$S_r(x + y, \boldsymbol{\omega}) = \Phi(S_r(x, \boldsymbol{\omega}), S_r(y, \boldsymbol{\omega}))$$

with

(1.1)
$$\Phi(X, Y) = X + Y + \sum_{i,j \ge 1} c_{i,j} X^i Y^j.$$

Our chief concern lies in the coefficients $c_{i,j}$. In this paper we calculate for r=2 the coefficients $c_{1,1}$, $c_{1,2}$, $c_{2,1}$ and find their mutual relations. We also establish their relation to the Eisenstein series.

We first observe more general facts. Let F(x) be an analytic function in x with F(0) = 0 and $F'(0) \neq 0$. Then there exists a two variable function $\Phi(X, Y)$ given by (1.1) such that

$$F(x + y) = \Phi(F(x), F(y)).$$

In this case it is easily shown that

$$c_{1,1} = \frac{F''(0)}{F'(0)^2}$$

and

(1.3)
$$c_{1,2} = c_{2,1} = \frac{F'''(0)F'(0) - F''(0)^2}{2F'(0)^4}.$$

Example 1. When r = 1, we have $S_1(x) = 2\sin(\pi x)$. The addition formula is

$$S_1(x+y) = S_1(x)\sqrt{1 - \frac{S_1(y)^2}{4}} + S_1(y)\sqrt{1 - \frac{S_1(x)^2}{4}} = \Phi(S_1(x), S_1(y)).$$

Thus

$$\Phi(X,Y) = X\sqrt{1 - \frac{Y^2}{4}} + Y\sqrt{1 - \frac{X^2}{4}} = X + Y - \frac{1}{8}X^2Y - \frac{1}{8}XY^2 + \cdots$$

Then

$$c_{1,1} = 0$$
, $c_{1,2} = c_{2,1} = -\frac{1}{8}$.

It is easy to verify they satisfy the identities (1.2) and (1.3).

In what follows we fix $F(x) = S_r(x, \omega)$ and write $c_{i,j} = c_{i,j}(\omega)$. It is easy to see the following facts.

Theorem 0. (i)
$$c_{1,1}(\omega) = \frac{S_r''(0,\omega)}{S_r'(0,\omega)^2}$$
.

- (ii) $c_{1,1}(\lambda \boldsymbol{\omega}) = c_{1,1}(\boldsymbol{\omega})$ for any $\lambda > 0$.
- (iii) $c_{1,1}(\boldsymbol{\omega})$ is symmetric.

For each non-zero complex number k we put

$$E_k(\tau) = \frac{\zeta(1-k)}{2} + \sum_{n=1}^{\infty} \sigma_{k-1}(n)q^n$$

with

$$\sigma_{k-1}(n) = \sum_{d|n} d^{k-1},$$

where τ belongs to the upper half plane and $q = e^{2\pi i \tau}$. As is well-known, for an even integer $k \ge 4$, $E_k(\tau)$ is the Eisenstein series of weight k with respect to the modular group $SL_2(\mathbf{Z})$. Especially, it satisfies the automorphy

$$E_k\left(-\frac{1}{\tau}\right) = \tau^k E_k(\tau)$$

and the corresponding zeta function is given by

$$L(s, E_k) = \zeta(s)\zeta(s - k + 1).$$

We consider $E_k(\tau)$ as the principal Eisenstein series of weight k for $k \in \mathbb{C} \setminus \{0\}$ in general, where "principal" indicates the "principal character." It seems to be an interesting problem to see the automorphy of $E_k(\tau)$, that is, to calculate

$$R_k(au) = E_k\left(-rac{1}{ au}
ight) - au^k E_k(au)$$

concretely. We know the result in the following cases:

(1) $R_k(\tau) = 0$ for each even integer $k \ge 4$,

$$(2) R_2(\tau) = -\frac{\tau}{4\pi i}.$$

From these results we obtain

$$E_6(i) = 0$$

and

$$E_2(i) = -\frac{1}{8\pi}.$$

In other words,

$$\sum_{n=1}^{\infty} \frac{n^5}{e^{2\pi n} - 1} = \frac{1}{504}$$

and

$$\sum_{n=1}^{\infty} \frac{n}{e^{2\pi n} - 1} = \frac{1}{24} - \frac{1}{8\pi}$$

as noted by Ramanujan. We remark that the case (2) is shown from the transformation formula

$$\eta\left(-\frac{1}{\tau}\right) = \sqrt{\frac{\tau}{i}}\eta(\tau)$$

for the Dedekind η -function. It would be a non-trivial problem to investigate $R_k(\tau)$ for $k \in \mathbb{C} \setminus \{0\}$ in general.

In papers [K2] [KK5] we proved

$$\lim_{\tau \to 1} R_k(\tau) = \frac{(-1)^k B_{k-1}}{2\pi i}$$

and its higher dimensional analogue for each positive integer k, where B_k is the Bernoulli number.

In the previous paper we examined the case k = 1, where

$$E_1(\tau) = -\frac{1}{4} + \sum_{n=1}^{\infty} d(n)q^n = -\frac{1}{4} + \sum_{n=2}^{\infty} q^{nn}$$

and

$$R_1(\tau) = E_1\left(-\frac{1}{\tau}\right) - \tau E_1(\tau).$$

We notice that this k is the only one case when $L(s, E_k)$ has the double pole; in fact $L(s, E_1) = \zeta(s)^2$ has the double pole at s = 1.

In this paper we calculate boundary values at all cusps M/N as follows:

THEOREM 1. Let $M, N \ge 1$ be integers which are coprime. It holds that

$$\lim_{\substack{\tau \to M/N \\ \operatorname{Im}(\tau) > 0}} \left(E_1 \left(-\frac{1}{\tau} \right) - \tau E_1(\tau) \right) = \frac{i}{2N} \sum_{\substack{m = 0, \dots, M-1 \\ n = 0, \dots, N-1 \\ (m,n) \neq (0,0)}} \left| \frac{m}{M} - \frac{n}{N} \right| \cot \left(\pi \left| \frac{m}{M} - \frac{n}{N} \right| \right) + \frac{i}{2\pi N}.$$

This is a generalization of the previous result obtained in [K1] recalled in Section 2.

Acknowledgement. Both authors would like to express their profound gratitude to their Mentor Professor Tsuneo Kanno (June 4, 1928–March 11, 2011) for his indicating the way for many years.

2. Preliminary propositions

In this section we prepare some facts which will be used in the proof of our theorems.

We first recall the properties of the multiple sine function. In the previous paper [K1] we proved the following facts.

PROPOSITION 1. (i) Let N be a positive integer. Then $R_1(\tau)$ has the following transcendental numbers as boundary values at cusps N and $\frac{1}{N}$.

(1)
$$\lim_{\tau \to N} R_1(\tau) = \frac{1}{2i} \left(\frac{1}{N} \sum_{k=1}^{\lfloor N/2 \rfloor} (N - 2k) \cot \left(\frac{\pi k}{N} \right) - \frac{1}{\pi} \right).$$

(2)
$$\lim_{\tau \to 1/N} R_1(\tau) = \frac{1}{2Ni} \left(\frac{1}{N} \sum_{k=1}^{[N/2]} (N - 2k) \cot \left(\frac{\pi k}{N} \right) - \frac{1}{\pi} \right).$$

(ii) For $Im(\tau) > 0$

$$R_1(\tau) = \frac{\tau^{3/2}}{8\pi^2 i} S_2''(0, (1, \tau)).$$

We recall the following facts which were proved in [KK1].

Proposition 2

(i) (periodicity)

$$S_r(x + \omega_i, \boldsymbol{\omega}) = S_r(x, \boldsymbol{\omega}) S_{r-1}(x, \boldsymbol{\omega}(i))^{-1},$$
 where $\boldsymbol{\omega}(i) = (\omega_1, \dots, \omega_{i-1}, \omega_{i+1}, \dots, \omega_r).$

(ii) (homogeneity)

$$S_r(cx, c\boldsymbol{\omega}) = S_r(x, \boldsymbol{\omega})$$

for c > 0.

(iii) (differential equation)

$$\frac{S'_r}{S_r}(x) = (-1)^{r-1} \pi \binom{x-1}{r-1} \cot(\pi x).$$

(iv)

$$S_1(x,\omega) = 2\sin\left(\frac{\pi x}{\omega}\right).$$

(v)

$$S_2(\omega_1, (\omega_1, \omega_2)) = \sqrt{\frac{\omega_2}{\omega_1}},$$
 $S_2(\omega_2, (\omega_1, \omega_2)) = \sqrt{\frac{\omega_1}{\omega_2}}.$

We define the multiple cotangent function as

$$\operatorname{Cot}_r(x, \boldsymbol{\omega}) = \frac{S'_r}{S_r}(x, \boldsymbol{\omega}).$$

We put

$$Cot_2(x) = Cot_2(x, (1, 1)) = \frac{S'_2}{S_2}(x).$$

LEMMA 1

$$Cot_2(x) = \pi(1-x) \cot(\pi x).$$

LEMMA 2

$$\operatorname{Cot}_{2}(x,(M,N)) = \frac{1}{MN} \sum_{\substack{k=0,\dots,N-1\\l=0}} \operatorname{Cot}_{2}\left(\frac{x}{MN} + \frac{k}{N} + \frac{l}{M}\right).$$

Proof. By [KK2] we have

$$S_2(x, (M, N)) = \prod_{\substack{k=0,\dots,N-1\\l=0,\dots,M-1}} S_2\left(\frac{x}{MN} + \frac{k}{N} + \frac{l}{M}\right).$$

Its logarithmic derivative gives the result.

By Proposition 2(ii), it is easy to see that

LEMMA 3

$$\operatorname{Cot}_2(cx,(c\omega_1,c\omega_2)) = \frac{1}{c}\operatorname{Cot}_2(x,(\omega_1,\omega_2)).$$

3. Results

Theorem 2. For $Im(\tau) > 0$, it holds that

$$c_{1,1}(1,\tau) = \frac{2i}{\sqrt{\tau}} \left(E_1 \left(-\frac{1}{\tau} \right) - \tau E_1(\tau) \right).$$

Proof. By Proposition 1(ii), we have

$$S_2''(0,(1,\tau)) = \frac{8\pi^2 i}{\tau^{3/2}} \left(E_1 \left(-\frac{1}{\tau} \right) - \tau E_1(\tau) \right).$$

On the other hand, we already know the fact in our previous paper ([KK3] Section 2) that

$$S_2'(0,(1,\tau)) = \frac{2\pi}{\sqrt{\tau}}.$$

The result follows by (1.2).

Theorem 3 (r=2)

$$c_{1,1}(\omega_1, \omega_2) = \frac{\sqrt{\omega_1 \omega_2}}{\pi} \operatorname{Cot}_2(\omega_1, (\omega_1, \omega_2))$$
$$= \frac{\sqrt{\omega_1 \omega_2}}{\pi} \operatorname{Cot}_2(\omega_2, (\omega_1, \omega_2)).$$

Proof. In the previous paper [K1, p. 399], we proved

(3.1)
$$S_2''(0,(1,\tau)) = \frac{4\pi}{\sqrt{\tau}} \cdot \frac{S_2'}{S_2}(\tau,(1,\tau)).$$

Hence

$$\begin{aligned} \operatorname{Cot}_{2}(\tau,(1,\tau)) &= \frac{S_{2}'}{S_{2}}(\tau,(1,\tau)) \\ &= \frac{\sqrt{\tau}}{4\pi} S_{2}''(0,(1,\tau)) \\ &= \frac{\sqrt{\tau}}{4\pi} S_{2}'(0,(1,\tau))^{2} c_{1,1}(1,\tau) \end{aligned}$$

by (1.2). The fact that

$$S_2'(0,(1,\tau)) = \frac{2\pi}{\sqrt{\tau}}$$

leads to the result. \Box

Theorem 4 (r = 2). Let $M, N \ge 1$ be coprime integers. It holds that

$$c_{1,1}(M,N) = -\frac{1}{\sqrt{MN}} \sum_{\substack{m=0,\dots,M-1\\n=0,\dots,N-1\\(m,n) \neq (0,0)}} \left| \frac{m}{M} - \frac{n}{N} \right| \cot \left(\pi \left| \frac{m}{M} - \frac{n}{N} \right| \right) - \frac{1}{\pi \sqrt{MN}}.$$

Proof. Putting x = M in Lemma 2, it follows that

$$Cot_2(M, (M, N)) = \frac{1}{MN} \sum_{\substack{k=0,\dots,N-1\\l=0}} Cot_2\left(\frac{1+k}{N} + \frac{l}{M}\right)$$

under the convention that when (k, l) = (N - 1, 0), we interpret

$$\cot_2(1) = \lim_{x \to 1} \cot_2(x) = \lim_{x \to 1} \pi(1 - x) \cot(\pi x) = \lim_{x \to 1} \frac{\pi(1 - x) \cos(\pi x)}{\sin(\pi x)} = -1.$$

Taking Theorem 3 into account, we have

$$\begin{split} c_{1,1}(M,N) &= \frac{\sqrt{MN}}{\pi} \operatorname{Cot}_{2}(M,(M,N)) \\ &= \frac{1}{\pi \sqrt{MN}} \sum_{\substack{k=0,\dots,N-1\\l=0,\dots,M-1}} \operatorname{Cot}_{2}\left(\frac{1+k}{N} + \frac{l}{M}\right) \\ &= \frac{1}{\sqrt{MN}} \sum_{\substack{k=0,\dots,N-1\\l=0,\dots,M-1\\(k,l) \neq (N-1,0)}} \left(1 - \frac{k+1}{N} - \frac{l}{M}\right) \cot\left(\pi\left(\frac{k+1}{N} + \frac{l}{M}\right)\right) - \frac{1}{\pi \sqrt{MN}} \\ &= -\frac{1}{\sqrt{MN}} \sum_{\substack{m=0,\dots,M-1\\n=0,\dots,N-1\\(m,n) \neq (0,0)}} \left|\frac{m}{M} - \frac{n}{N}\right| \cot\left(\pi\left|\frac{m}{M} - \frac{n}{N}\right|\right) - \frac{1}{\pi \sqrt{MN}} \end{split}$$

by putting k + 1 = N - n.

4. Proof of Theorem 1

From the results in the preceding section, we extend Proposition 1(i) to arbitrary positive rational numbers M/N as follows.

Proof of Theorem 1. We compute

$$\begin{split} \lim_{\substack{\tau \to M/N \\ \operatorname{Im}(\tau) > 0}} & \left(E_1 \left(-\frac{1}{\tau} \right) - \tau E_1(\tau) \right) = \lim_{\substack{\tau \to M/N \\ \operatorname{Im}(\tau) > 0}} \frac{\sqrt{\tau}}{2i} c_{1,1}(1,\tau) \quad \text{(by Theorem 2)} \\ & = \frac{\sqrt{M}}{2i\sqrt{N}} c_{1,1}(N,M) \quad \text{(by Theorem 0(ii))}. \end{split}$$

Theorem 4 leads to the result.

5. Relation between Coefficients

THEOREM 5. It holds that

$$c_{1,2}(1,\tau) = c_{2,1}(1,\tau) = -\frac{1}{8}c_{1,1}(1,\tau)^2 - \frac{1}{16}\left(\tau + \frac{1}{\tau}\right)$$

for $\tau \in \mathbf{C} \setminus (-\infty, 0]$.

Proof. Put

$$\mathscr{S}_k(u_1,\ldots,u_r) = S_{r+1}^{(k)}(0,(u_1,\ldots,u_r,1))$$

for $k \ge 0$. By [KK6, Theorem 4], we have

$$\mathscr{S}_3(\tau) = \frac{3}{4} \mathscr{S}_2(\tau)^2 \mathscr{S}_1(\tau)^{-1} - \frac{1}{8} \left(\tau + \frac{1}{\tau}\right) \mathscr{S}_1(\tau)^3.$$

From the fact that

$$\mathcal{S}_k(\tau) = S_2^{(k)}(0, (1, \tau)),$$

the basic identity (1.3) and (1.2) leads to

$$c_{1,2}(1,\tau) = c_{2,1}(1,\tau) = \frac{\mathscr{S}_3(\tau)\mathscr{S}_1(\tau) - \mathscr{S}_2(\tau)^2}{2\mathscr{S}_1(\tau)^4}$$
$$= \frac{\mathscr{S}_3(\tau)}{2\mathscr{S}_1(\tau)^3} - \frac{\mathscr{S}_2(\tau)^2}{2\mathscr{S}_1(\tau)^4}$$

and that

$$c_{1,1}(1,\tau) = \frac{S_2(\tau)}{S_1(\tau)^2}.$$

By combining these identities we have

$$\begin{split} c_{1,2}(1,\tau) &= c_{2,1}(1,\tau) = \frac{\mathcal{S}_3(\tau)}{2\mathcal{S}_1(\tau)^3} - \frac{1}{2}c_{1,1}(1,\tau)^2 \\ &= \frac{1}{2}\left(\frac{3}{4}\frac{\mathcal{S}_2(\tau)^2}{\mathcal{S}_1(\tau)^4} - \frac{1}{8}\left(\tau + \frac{1}{\tau}\right)\right) - \frac{1}{2}c_{1,1}(1,\tau)^2 \end{split}$$

$$= \frac{3}{8}c_{1,1}(1,\tau)^2 - \frac{1}{16}\left(\tau + \frac{1}{\tau}\right) - \frac{1}{2}c_{1,1}(1,\tau)^2$$
$$= -\frac{1}{8}c_{1,1}(1,\tau)^2 - \frac{1}{16}\left(\tau + \frac{1}{\tau}\right).$$

REFERENCES

- [K1] N. Kurokawa, Automorphy of the principal Eisenstein series of weight 1: An application of the double sine function, Kodai Math. J. 32 (2009), 391–403.
- [K2] N. KUROKAWA, Limit values of Eisenstein series and multiple cotangent functions, J. Number Theory 128 (2008), 1775–1783.
- [KK1] N. Kurokawa and S. Koyama, Multiple sine functions, Forum Math. 15 (2003), 839–876.
- [KK2] S. KOYAMA AND N. KUROKAWA, Normalized double sine functions, Proc. Japan Acad. 79A (2003), 14–18.
- [KK3] S. KOYAMA AND N. KUROKAWA, Values of the double sine functions, J. Number Theory 123 (2007), 204–223.
- [KK4] S. KOYAMA AND N. KUROKAWA, Zeta functions and normalized multiple sine functions, Kodai Math. J. 28 (2005), 534–550.
- [KK5] S. KOYAMA AND N. KUROKAWA, Multiple Eisenstein series and multiple cotangent functions, J. Number Theory 128 (2008), 1769–1774.
- [KK6] S. KOYAMA AND N. KUROKAWA, Absolute modular forms, Non-commutative geometry, arithmetic and related topics, Proceedings of JAMI Conference, Johns Hopkins University, 2012, 213–224.
- [M1] Yu. I. Manin, Lectures on zeta functions and motives (according to Deninger and Kurokawa), Asterisque 228 (1995), 121–163.
- [S1] T. SHINTANI, On a Kronecker limit formula for real quadratic fields, J. Fac. Sci. Univ. Tokyo IA 24 (1977), 167–199.
- [S2] T. SHINTANI, On certain ray class invariants of real quadratic fields, J. Math. Soc. Japan 30 (1978), 139–167.
- [S3] T. SHINTANI, A proof of the classical Kronecker limit formula, Tokyo J. Math. 3 (1980), 191–199.

Shin-ya Koyama
Department of Biomedical Engineering
Toyo University
2100 Kujirai, Kawagoe-shi 350-8585
Japan
E-mail: koyama@toyo.jp

Nobushige Kurokawa
Department of Mathematics
Tokyo Institute of Technology
2-12-1, Oh-okayama, Meguro-ku
Tokyo 152-8551
Japan

E-mail: kurokawa@math.titech.ac.jp